Quic ‘n Easy MOUNTING INSTRUCTIONS
1988 - 1997 CHEVY/GMC FULL SIZE PICK UP

35-1/16"

CLEARANCE
NOTCH
TWO PLACES

REAR _MOUNTING }
BRACKET

BUMPER BRACKETS BOLTED
FO TRUCK FRAME CHANNELS

TRUCK BUMPER BOLTS
TO TRUCK BUMPER
BRACKETS

TRUCK FRAME
CHANNEL

ITEM
NO.
P

2
3

(=26, N N

w00~

10
11

04/98

FRONT BRACKET
TWO PLACES

SPACER (THIN} WASHERS
@ USE AS REQUIRED

TWO PLACES
PART Qry
NO.
47082020 1
47077500 1
47077505 2
47077506 2
47077507 4
14110801 14
14111001 2
16008075 14
16010075 2
17409010 4
17008001 6

REF.
REINFORCING PLATE —

@ FOR @58 BOLT

TWO PLACES
#5/8NC x1.75, 6D &
HEX BOLT AND LOCK NUT

TWO PLACES —

@RE.'A;_;-'ORCWG PLATE

OR @1/2 BOLT
FOUR PLACES

MI12 TRUCK HEX

BOLT REINSTALLED

INTO WELDED NUT ON
TRUCK BUMPER BRACKET
TWO PLACES

R.H. AND L.H. TRUCK

I

@I/2NC x1.75, GD 5
HEX BOLT AND LOCK NUT

TEN PLACES

1/2NC x 1.75, GD 5
EX BOLT, THICK WASHER
(OVER SLOT) AND LOCK NUT

FOUR PLACES
DESCRIPTION

Quic ‘n Easy Mounting Kit

1988 - 1997 Chevy/GMC (Full Size)
Rear Mounting Bracket
Front Mounting Bracket

Reinforcing Plate (for 5/8” bolt)
Reinforcing Plate (for 1/2” bolt)
1/2" NC Stover Lock Nut

5/8" NC Stover Lock Nut
172" x 1-3/4” NC Hex Bolt, Gd. 5
5/8” x 1-3/4" NC Hex Boit, Gd. 5

1/2" Special Washer
1/2" Standard Washer, ZP

Page 1 Side “A”

00100424




©w

02/37

LIUIC 'n Easy MOUNTING INSTRUCTIONS
1988 - 1997 CHEVY/GMC FULL SIZE PICK Up

TRUCK BUMPER R.H. AND L. H. TRUCK
BOLTS TO THESE BUMPER BRACKETS BOLTED

hggg &0% T(élﬁEARANCE TRUCK BUMPER TO TRUCK FRAME CHANNELS
4 BRACKETS M12 TRUCK WELDED
NUT ON BUMPER
MOUNTING BRACKET
N ——_TWO PLACES

B1/2 REINFORCING PLATE
BI1/2 x 1.75 HEX BOLT,
WASHER (OVER BRACKET SLOT),
AND @1/2 STOVFR LOCK NUT
FOUR PLACES @

~M12 TRUCK BOLT

i
; TWO PLACES
N R Ty
| : : IN SPACER
WASHERS BETWEEN HiTerH (1O D) (/224

BRACKET AND TRUCK BUMPER
MOUNTING BRACKETS
TWO PLACES

Remove spare tire and tighten spare tire winch to clear hitch and prevent noise vibration.

NOTE: Do not remove any welded or riveted-in cross members,
Remove (2) iverﬁcal M12 truck hex bolts from truck bumper bracket at rear of the truck.

Loosely boltirear mounting bracket (item #2) In place with the (2) M12 bolts removed in

step #2. Snig the (2) M12 hex bolts and loosen 1/4 turn. Place (2) reinforcing plates (for
1/27 bolf) (Item #5) over holes in the truck frame that align with the holes in the that align with
the holes in the rear mounting bracket. Insert (2) 1/2" x 1-3/4 bolts (item #8) down through
the reinforcement plates (for 1/2” bolts) (item #5) , truck frame channel, and rear mounting
bracket (Item #2) and install (2) 1/2” special washer (Item #10) and (2) 1/2” stover lock nuts
(tem #6). Shug bolts to hold rear mounting bracket in place, but do not tighten hardware at

this time.

Look for clearance between the rear mounting bracket (Item #2) and the truck bumper
mounts at the rear bolt holes in the rear mounting bracket. Due to design differences
between truck models (1500, 2500, etc.) and due to assembly tolerances, there may be a
clearance prablem at this location. If there is not enough clearance to fit a 1/2” standard
washer (ltem|#11), proceed with the assembly. If there is room for one or more washer(s)
(thick or thin); determine the number and combination of 1/2” special washer(s) (ltem #10)
and 1/2” standard washer(s) (Item #11) required and proceed with assembly, , but do not

tighten hardware at this time.
Page 1 Side “B” _ 00100424




